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2 2,357,045 2,563,718 A 206,673
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04 JI2H2R2EE S 194,365 214,659 A20,294
OANAES gz o8y 151,808 172,102 A 20,294
-J=2 60,240 *6 2 x2352 84,939 94,336 A9,397
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02 2229 214,460 376,460 A 162,000
O2222 2 MA 98,460 260,460 A 162,000
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— HIOIIIA 2 HY AlZ22
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301 Yt A 3,000 9,000 26,000
09 BHAIAHI B A2 3,000 9,000 26,000
OEASD 29 2A ¢ 3,000,000 3,000 9,000 26,000
2HSAL 85 L 29 117,526 135,905 A 18,379
SIS AE 22 117,526 135,905 A 18,379
2O HSHEH X2 117,526 135,905 A 18,379
101 Q1241 19,906 28,685 A8,779
04 JI2ZH2R2IEE S 19,906 28,685 A8,779
OANAES SRz o8 19,906 28,685 A8,779
=2 60,240« 12 170 10,241 15,723 N5, 482
= 60,2402 * 124 »40 2,410 3,133 AT23
o = 90,3602 * 12 x50 4,518 5,964 A1,446
P A== 60,2402 * 1% 92 543 723 A 180
—4BEE 17,832,000 *12. 3% 2,194 3,142 948
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234l 29,620 39,220 A 9,600
Sl 27,900 37,500 A 9,600
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